WATERBOX

A.Q U AR

Waterbox Aquariums USA
320.W.Sabal Palm Place

Longwood, FL 32779
www.waterboxaquariums.com

WATERBOX

AAQUARIUMS

MarineShield™
Aquarium Cabinet

MSII 4825/6025/7225

U M S

Cabinet Assembly Manual

WB-MSII-7501

USA: +1800-674-2608
Canada: +1 437 888 2612
Europe: +31 20 808 3685
UK: +44 1784 614175




WATERBOX" WATERBOX"

A QUARIUMS A QUARIUMS

CONTENT

< Aquarium Cabinet

J MSw4s2 00 P01,
MY WATERBOX
J vshheo2s P09 ,
Tank Model Tank Lot#
Cabinet Model Cabinetlot# FM§|L 7225 P17

Purchase Date

Sellers

Address

WWW.WATERBOXAQUARIUMS.COM




WATERBOX CABINET MSII 4825

AQUARIUMS

Code Name QTY |Spare Hardware Installation Instructions
é C1203 | Leveling Foot 8
C1601 | Rebound Kit 2
Screw M3.5x20
C1602 for Rebound Kit 4 2
C1011 | Door Hinge 6
C1004 Screw M4x14 12 4

for Door Hinge

C1701 | Silicone Pad(Clear)| 4 2

o |
= %:E C1802 | Spanner 1
— | —

<180° or>180°

A C A C1901 | Silicone Sticker (Black)| 30 5
N 7 C2001 | Logo 1
S — Correct Wrong
\:’ C3001 Plastic Cover (Right)| 4
D & Cabinet Installation Instructions
%\ E ?\ :’ C3002 | Plastic Cover (Left) 4 W
,
& &
&
&
I |
D o}
|
G E SN B
o
F
C
H
S/N Name QTY S/N Name QTY
A Cabinet Door 2 D Cabinet Lower Side Beam 2
B Side Panel 2 E Cabinet Middle Beam 3
C Bottom Panel F Cabinet Upper Side Beam 2
G Cabinet Back Beam 1
H Cabinet Front Beam 1

01 02



WATERBOX CABINET MSII 4825

N

pa—

03 04



WATERBOX CABINET MSII 4825

A QUARIUMS

C1601 =] [

.
-
—
NS

=
G

/

| \ ]
QD o \ | -.
d |

Screw M3.5x20

Control Box
(Sold Separately)

05 06



WATERBOX" CABINET MSII 4825

AQUARIUMS

07 08



WATERBOX"

AQUARIUMS

CABINET MSII 6025

Hardware Installation Instructions

<180° or>180°

Correct Wrong

Cabinet Installation Instructions

Code Name QTY |Spare
C1203 | Leveling Foot 10
C1601 | Rebound Kit 3
Screw M3.5x20
C1602 for Rebound Kit 6 2
C1011 | Door Hinge 9
Screw M4x14
C1004 for Door Hinge 18 4
Screw M4x10
C1003 for Door Hinge 6 2
C1701 | Silicone Pad(Clear)| 6 2
C1802 | Spanner 1
C1901 | Silicone Sticker (Black) | 40 5
C2001 | Logo 1
C3001 | Plastic Cover (Right) | 4
C3002 | plastic Cover (Left) 4
-
E—
G —— A B
C
H
S/N Name QTY S/IN Name QTY
A Cabinet Door 3 D Cabinet Lower Side Beam 2
B Side Panel 2 E Cabinet Middle Beam 5
C Bottom Panel 2 F Cabinet Upper Side Beam 2
G Cabinet Back Beam 1
H Cabinet Front Beam 1

09

10




\Al\lqATERBOX® CABINET MSII 6025

11 12



WATERBOX

A QUARIUMS

CABINET MSII 6025

Screw M3.5x20

Control Box
(Sold Separately)

13

14




WATERBOX" CABINET MSII 6025

AQUARIUMS

I ENEFIEEI .
i

N "
I i

15 16



WATERBOX"

AQUARIUMS

CABINET MSII 7225

Hardware Installation Instructions

<180° or>180°

Correct Wrong

Cabinet Installation Instructions

Code Name QTY |Spare
C1203 | Leveling Foot 10
C1601 | Rebound Kit 3
Screw M3.5x20
C1602 for Rebound Kit 6 2
C1011 | Door Hinge 9
Screw M4x14
C1004 for Door Hinge 18 4
Screw M4x10
C1003 for Door Hinge 6 2
C1701 | Silicone Pad(Clear)| 6 2
C1802 | Spanner 1
C1901 | Silicone Sticker (Black) | 40 5
C2001 | Logo 1
C3001 | Plastic Cover (Right) | 4
C3002 | Pplastic Cover (Left) 4
-
E—
G —— A B
C
H
S/N Name QTY S/IN Name QTY
A Cabinet Door 3 D Cabinet Lower Side Beam 2
B Side Panel 2 E Cabinet Middle Beam 5
C Bottom Panel 2 F Cabinet Upper Side Beam 2
G Cabinet Back Beam 1
H Cabinet Front Beam 1

17

18




\ANQATERBOX® CABINET MSII 7225

19 20



WATERBOX CABINET MSII 7225

A QUARIUMS

Screw M3.5x20

Control Box
(Sold Separately)

21 22



WATERBOX" CABINET MSII 7225

AQUARIUMS

I ENEFIEEI .
i

N "
I i

23 24



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14



